

WELCOME TO ALL





SKYBLUE INTERNATIONAL PVT LTD

THIRUVARUR

SBI promotes holistic well-being and founded by a team of business professionals, our journey began with a shared Vision of creating a one-stop destination for premium personal care, Beauty care, home care products ,All kind of online Services

ABOUT

Inspired by the belief life starts with self-care, we embarked on a mission to individuals their health and happiness.



Financial freedom is achieved when an individual has enough savings, investments, and passive income streams to sustain their desired lifestyle without having to rely on a traditional job or paycheck.

This state of financial independence allows individuals to make choices based on their personal goals and values, rather than financial constraints.

One Minute Think

Expenses

Milk	•	1000
Rent	•	4000
Grocery	•	3000
Rice	•	1200
Loan Due	•	4000
Petrol	•	3000
Snacks	•	1500
Recharges(TV & Cell)	•	1000
Extra	•	3000
Total Per Month	:	21700



Why Come Here



- Financial Freedom
- Stress free
- less Time
- Good product
- No target



Product A



2 Years Replacement Warranty Rs. 1999 /-



Product B



Four Plain Shirt For Men, Half & Full Shirt, Size: 36,38,40,42,44 Rs.1999/-



First you purchase one Product

Then Purchase 6 person Your Income Rs : 1800/-



Your Income Structure Plan Sunflower, only 6 Matrix Apply here

Month	Level	You	Level Income	Total Income
1 Month	1 Level	6	300	1,800
2 Month	2 Level	36	100	3,600
3 Month	3 Level	216	100	21,600
4 Month	4 Level	1,296	100	1,29,600
5 Month	5 Level	7,776	150	11,66,400
6 Month	6 Level	46,656	250	1,16,64,000

Note : You Get 6 level Income, Introduce 6 Members compulsory





1 STAR : "Recognition"



2 STAR : "10 Gram Silver"





3 STAR : "SILK SAREE"



SILVER : " FRIDGE "





PLATINUM : "Pension Deposit 1 million get interest for every month"

SKYBLUE INTERNATIONAL







DIAMOND : " 2 Million House Fund"





Change Your Mindset To Become A Millionaire









Thank You

